Exam #2, OR 5001, Dr. M. Bohner. Nov 13, 2001.
1. Consider the LP

(531 + 4z + 323 + 224

—  max
T4+ 20,4+ 24 < 1
< T+ 2o+ 223 < 2
T+ 2rx3+2x4 < 3
L T1,%2,%3,T4 2> 0.

(a) Use the Simplex algorithm to solve the LP.
(b) Apply methods as in the lecture (Section 6.2) to derive the optimal tableau.
2. Use the Big M-Method to solve

br1 — 3x9 +2x3 — min
201+ 20+ 13 =
1+ 223+ 23 =
X1, T2, T3 2>
3. Solve
8r1 + 10x9 + 1823 — min
T1+ 2o +T3—24 > 2
—T9—3x3—14 < 3
T1, %9, T3, %4 2> 0

by solving the dual LP graphically and using the complementary conditions.



